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1. (a) "What is cross-elasticity of demand ? What happens to
the demand for commodity x when both the price of a

substitute and complement of commeodity x rises 7 5
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If p = 1000 ~ 3q, explain that the slope of MR is the twice
of the slope of AR. When and why the slope of MR and

AR is identical for a firm ? - 5

How do we measure price elasticity of demand by using
point method and arc method ? When should each method

be used ? . 5
Or

Define cross-elasticity of demand. An individual spends
all his income on '\o goods, 'X and Y. If a 50 percent
increase in the price of the good X does not change
the amount consumed of Y, what is the: price clasticity

of good X. : 5

What does the price Eilasticity of supply measure in
general 7 Show that elasticity of supply on a straight
line supply curve passing through the price axis is

greater than one. 5.
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(H] The slope of demand curve is one of the ingredients
of the elasticity of demand (buj not -the only). éxplain.

Also compare and explain siope and elasticity on
parallel straight line dgmand curve at a given quality

demanded. 5 '
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Define marginal rate of substitution and explain that
marginal rate of substitution diminishes as we move down
the indifference curve in case of economic goods with

the help of diagram. 5
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Why does a consumer attain equilibrium at a point
where the slope of budget tine is equal to the slope of
indifference curve and indifference curve is coh\;ex to

origin ? Explain with the help of diagram. 5

. Draw indifference curve in case of between :

(N two economic goods and

(i) one economic and one bad goods.

Explain. ) 5

Or

“Giffen goods are inferior goods too.” Do you agree ?
Explain with the heip of income effect and substitution

effect using indifference curves ? ' 5

What is an Enge! curve 7 Explain the relationship between

.- Enge! curve and demand curve. 5

What will be the elasticity of demand when price
consumption curve is horizontal to X axis ? Explain

with the help of the diagram. | 5
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“Iso-quants can be'convéxe_d, linear or L-shaped.” What
does .each of these shapes tell you about the nature of
the production function ? What does-each. of these
shapes tell you about the MRTS ? Explain with the help

of diagrams. 15

“Diminishing return to a variable factor and constant
return- to scale are not inconsistent.” Explain with the

help of diagram. _ ' 15
Or

Explain increasing retums to scale, constant returns to
scale and decreasing returns 1o scale with the help of
diagrams. S 75
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(d) Prove that the slope of an iso-quant is equal to the

ratio of MP; and MP,. Explain why the MRTS, . is

likely to diminish as more and more labour is substituted

for capital. 15
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Explain the leaning curve. How is it related to economies

of scale ? 75

If the average cost curve is U—shapéd, explain the slope

of total cost curve. When is the long run total cost curve

~

a straight. line through the origin ? 75

Or
Distinguish between :
() fixed cost and sunk cost

(i) accounting cost and economic cost. 3.75%2:
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{d) Explain the shapes of short.run cost curves, Analyse
“the relationship between Aver(age Cost (AC), Average

Va;'iable Cost (AVC) and Marginal Cost (MC). 75
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Explain and derive diagrammatically the long run

~ supply curve of a constant cost industry under perfect

(5)

competition. _ 75

What is a subsidy ? Explain using suitable diagram how

" the benefit of a subsidy is split between buyers and

©
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sellers in a competitive market. . 15
o :

Or

If the firms are iri short run equilibrium will the competi-
tive industry, as a whole be in equilibrium in the long

run also ? Comment using suitable diagrams. N5 ‘
Explain using suitable diagrams the concept of ‘Wa!rasian’
an'd ‘Mafshallian’ stability. 75
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